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Math 1030, HomeworkyActivity #10, Summer 2014
Sections 6.1, 6.2

LEY

Instructions: Complete the following problems. You may work aFoTe orinagroup. Do not just copy

appear on exams. You may be asked to explain or present the answ|
due at the end of the class period. |

1. Find the greatest tommon factor for the following pairs or s

a. 8,12

b. 12, 36,54 )

. x10 x2 48 2.

d. 8a* 2043 “Had )

e 45a’h% 6ah?c?, 15a3p?c Aab

fo 20 - 4% 4(x -4} 2 (geu)t .
& 13(2e-1)'Ca+1),18Qa—-1)72a+ 12 3 (]

2. Factor the greatest common factor from the polynomial. Ch
factors that you get back the original expression,

22 + 12x X (K125

3% +62° —(3x By (K2 p2pm )

Om® ~18m3 —12m2 £ 81 B( BenS _ om® -

x(x —3) — 5(x — 3) (x=3) (%5

X2(x = 1) + y2(x — 1) K- +y+)

X?(4x + 1) + 2x(4x + 1) + 5(4x + 1)
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3. Factor by grouping.

a xy+3y4+4x+4 12
b. VZtz~y—1
¢ x¥—x242x_9
d. 2t* — 3 —6t4 3

C2E-1) - 6 (2-1) <

tproblem. Similar‘questions will
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ts of numbers,
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L:c_:k that if you re-multiply the

Hhm® + 27)

EHxr ) e2nes)

Y (Xt +4 (x43) = Ga) (g +4)
ROY ) -1y = (2= (y)
XECx=1y 4 2 (nm1) = () (42

@E-0(E2-2)

4. Factoreach expression. Firsuook for any GCFs, then try factoring by grouping.

a. 12mxz — 3xz + 2dmxPbx

. BX(Emz- 7+

C. 15‘x.4 —6x% + 30x2 — 124 |
3x(S¥3-2y 4 ox=4)= 3x[x2 (s‘mp +2(Sy-2)|

5. Find the missing factor to finish factoring the :
8. 3~—4x"1l 42578 = x“3(3)(3-g)(2+1)
6 1 22
b xt—sx?+ px = ;x(éx".z;( +{)

equation.

35

b
%33

‘m —2) 5-‘«3&[ 2 (4m-1)x (4m=1Y)

(o-2)( A48y
L (Sv=2) (2 42)




6.

Factor completely the expression or indicate that it is prime.
m?+9m+18  (pte Hn+3d)

x? —15x + 36 X= 1) (R-3Y

x? + 6x — 20 L

X124 D depe 12 = () (x43)
X2 =5xy 467 (xe2y) (X=3y)

2 2
p” +5pq —14q _P:HP -
z% + 7yz + 8y? 1)‘(,.\"3“1_ (? 2‘6)
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g% —4g+21

_33.—?:".—‘.—'

x2y? —3xy —18 (,,\\' -6) (xy 43)

3n3 2— 24n? +45n 3((\ ( n* -Sn-HS) = An (}ﬂ —'5}0/\’33
2x% + x3 — 15% Y‘\-’ T2 —\Sh = X ()L’-—*'Z.\f. 418)= R (’\* SBOL.S\
.
n*—30n% —n® ' pH—pn>-2on 2 (N -n-30) = N* (-
. =20mn®* + 30m?’n — 5m® - Smm?*-bmn=* Lﬁn’-)

Find all values for ¢ for which the polynomial is factorable. fﬁoo« huuzf adume C ¢ 70

a. x*=2x+c Q=]

b. xX*+cx+6 (=35

c. x246x+c c=%85s,9
2

d x“+cx+12 C= 13,8,7

Describe the proce‘ ure for factoring (so far)‘ in your own words

. Note such things as dealing

with GCFs, sign of the middle and final terms, factoring powers|of a variable.
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